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Fixed beam
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3D tracking Algorithm

 1.find stereo hit of ODC according to 2D track and calculate the z and
s(flight length in 2D)

« 2.find CGEM clusters with z measurement
» 3.take 3 outermost to make 8 line on z-s plane

 4.add hits and clusters one by one from outermost layer to innermost
layer to fit each line, and calculate chi-square value

 5.take the line with least chi-square to calculate the last two parameter
of helix

6. global fitting (ignore CGEM cluster)

note: just valid for single track event for the moment,
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